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1 Given: ©0, chord AB
Prove: a AAOB is isosceles.
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3 Given: ©O; OM is a median. A TS

Conclusion: OM is an altitude.
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5 Chord AB measures 12 mm and the radi- A
us of OP is 10 mm. Find the distance
from AB to P.
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7 Given: PQRS is an isosceles trapezoid,
g >
with SR || PQ.
Conclusion: ©P = ©Q

. 1503 troep Pq)QS SR

Ms. Kresovic
Mon 8 April 2013

2 Given: ©Q, PR 1 ST
Prove: £5= 4T
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4 Given: 99 QT L RS R
Prove: TQ bisects ZRTS.
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6 Find the length of a chord that is 15 cm from the center of a
circle with a radius of 17 cm.
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8 Find, {o+ke-nearesttenth, the circumference and the area of a
circle whose diameter is 7.8 cm.
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9 Given: QA = OB, e 1) -
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AD || BC
Prove: ABCD is a 7.

10 Given: ©O;
> e
9]3 bisects PQ.
Prove: RO bisects ZPRQ.
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11 Find the distance from the center of a circle to a chord 30 m long

if the diameter of the circle is 34 m.
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13 Given: @A a_m:l B intersect as shown.
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17 ©P just touches (is tangent to) the x-axis. P = (15, 13) and
Q = (19, 16). e
a Find the radius of GP.213 @_ 3
b Find PQ. (15,0)
¢ Find the length of AB.
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c. P.A - (5,12,13)
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20 Given: OP, WX = YZ
Prove: WQ = ZR
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12 Find the radius of a circle if a 24-cm chord is 9 cm from the

center. 4 | }Z —
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PQ is a diameter of ©0. P = (-3, 17) and Q = (5, 2). Find the
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18 Given: QP;
Z is the midpt. of WX.
AWAX is isosceles, with

base WX.
—_—
Prove: AZ , passes through P.
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23 In circle O, PQ = 4, RQ = 10, and PO =

15
15. I ]
Find PS (the distance from P to ©Q). R/_"-‘RQ 4+ _p
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